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“M] Ina poisson dlstrtbutlon P (x 0)

:,,.(a) ﬁ
2(b) 25
e ()
L(d) o -
Answer:

. *(a) E (x) stands for mean of the dlstnbutlon
~ " Letxbea POIsson variate with parameter m.
The probablhty functlon of x is then given by :

fx)= & 5 " forx = 0,1, 2

. »now,F;(x 0) = P(x 2)

f(o) = (2) |
em™m _emMm2
ol, ol
m _ n?
-1 2

=P (X = 2) FlndE(x)

(1 mark)
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'\\-— B v ! _ :
mi=2

m=y2 = 1.414 : ey
Therefore, the mean of this dietribution is E(X) =m = V2

12009 - ﬁéce;ﬁeee :

?’!

(&) Depends on its parameters
~ (b) Does not depend on its parameters

~ Answer: | 2
- (a) Shape ofthe Normal Dastnbutlon curve depends onits parameters |

':i?e

- Answer-

- @ E(=np=2 -~

Shape of Normal Distribution Cur\re

(o) Either (@) or (b)

(@ Neither (a) nor (b) (1 mark)

[setli- expianatory]

;:0; binomial d:stnbu’aon Ef{x) = 2 \Y (x) 4/3 Flnd the value ofn.
@5
ds

S E ST (1mar’k)'

- ¥(X)=npg=4/3. :
p: np Sl :..-'. --------- (1)

- substituting the value of np from (1):

e -
o 2 - —
S hE

iog 4
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Bl

For a Poxsson distribution P (x=3) =5 P(x = 5) then S D is

- ()4 o e e (0): 2 A
ST 716 Sge ot i (d) V2 o Ty -(1, mark)
- Answer: s ‘

e lbmb

‘(d) Let x. be a P01sson vanate w1th parameter m The probablllty-

function of x is then given by :
) = e m forx=0,1,2 ...ccceeoe.. BS NOW,

pGL 3) 5P (x= 5)

T HB) =515 -
e 5e-mm5 '

'.’]20 5m :

-

“imP=4

"-Vanance m 2

SD vﬁ ji et R aieit T

ForaBmom:al dlstnbutlonB(S p) P(x 2) 9p(x 4) then PIS
(a) 172 h T (R e e

e T g - (rmark)

: - Answer: : :
ol (d) We are gwen that n=6. The probablhty mass functlon of X IS glven

by

cpqﬁ"forx 012 ......... : .,'6'

;_Thus Plx=2) =1(2) = °c,p? ¢ = 15p* ¢*

. and Plx = 4) = 1(4) = %0, p* ¢ = 15pq
‘Hence, P(x=2) = 9P(x 4) '

E 15p% g* —915p Q?

.__159‘q ‘.(q sz) fis :
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Az . i
N Pt it
b X ]

q?— 9p?=0(asp # 0andq # 0)
(1-p)*-9p°=0(asq=1-p)
(1-p+3p)=0or(1—-p-3p)=0_
p=- ‘/zorp-1l4' :
Thus, p=1/4(asp # — Vo)
In Binomial distribution n=9 and P= 1/3, whatis the value of vanance

(@8 . EE (b) 4 _
(c) 2 ‘ (d) 16, ¥ (1 mark)
Answer: G |

(c) In Binomial distribution,

Variance = npq

Sreein=9g

. Variance = ' 9.

edfeary
SO0l AT S
N

l '2010‘,- DECEMBaB --i e

191

If standard devaatlon ofa ponsson dlstnbutlon 52 then :ts

(a) Modeis2. " (b) Modeis4 Sl ]
~ (¢) Modes are 3 and4  (d) Modes are 4 and 5 mark) -
_Answer: ‘ ‘ TR

(c) Given 0=SD.=2> Vanance Q3= 4

~’'In poisson dlstnbutlon o
Mean Vanance

"m=4, WhICh is an mteger 5

Citlis bl modal

| Modes are m and (m-1)
hence, 4 and 3,
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[1 0] The area under the Normal curve is
I

(a) 1 (b) © ,
() 05 (d) -1 (1 mark)
Answer: _

- (a) Area under the Normal curve = 1

(1)

(12}

For a normal distribution N{p,0?),
P (u-30 < X < p+30) is equal to

() 0.9973 - (b) 0.9546 | :
(). 0.9899 (d) 0.9788 (1 mark)
Answer: : ;

(a) We Know that
P(u - 30 < x < 4 + 30)

=0.8973 ,
If for 2 Binomial d:stnbut:on B (n p,) the mean = 6 and Varlance 2
then‘p'is- = 4
(@) 213 i (b) 1/3 : | .
(c) 3/5 - ‘ © (d) 1/4 (1 mark)
_ Answer: . ;
(@) Mean=6=np
2 For Binomial
Variance =2 = npg \ Distribution
_rm =—-—=0= J—
.6 3
A 2
Prd=aele a3
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[13]

[14]

If the inflexion points of a Normal Distribution are 6 and 14. Find its
Standard Deviation ?

(a) 4 , (b) 6 |
(c) 10 : (d) 12. ! (1 mark)
Answer: :

(a) “* The inflexion points of a Normal Dtstnbutlon are given as
(v +0)and (U -o0)
here, we are given :

H+o=14 (1)
and,p—-o=6 (2) .
Solving (1) and (2) we get
H=10and o =4

Hence S.D (o) = 4

In a Binomial Distribution, if mean is k-times the variance, then the
value of 'k' will be

(@) p- 5 (b) L

(O} = Pt (d)_a _ © (1 mark)
Answer: ik '

(d) In Binomial Distribution :-
Mean = np & Variance = npq
by question, here
Mean = K.

Variance np = K. npq

K=1/q

KON T QAN SR 3 -
..K_.1_p [“p+g=1] -
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[1 5] If x~N (3 36) and y~N (5,64) are two mdependent Normal varlate W|th

their standard parameters of dlstnbutlon then if (x+ y) “N(8, A) also

. follows normal dlstnbutlon “f‘he value owaﬂl be »
HE) 100 e B e et o (01 O e
() B8 T )36 gl k)
-‘,Answer ' ' R )
ik ""(b) We Know,

XN g )and y N(Uzs 022) wne

“'Then G AL
x+y~ N (M%J—c%)
" Where ~ N (, o). Lreee e .

Wy \(Say) e ,,7\:;.:_ Hr o) Briae
,..-p (u,+ pz) ando_ ‘[ozﬁo‘g) ‘_T;..é:,--%; i

. Here,x ~ N (3,36) andy ~ N(5 64)

L X+y T N(@BS5, J%_G?i N(8A)
='A = m
“A=10

LR Y
‘,:\_i i

| 2011 ,-.DECEMBER — "

[16] The mean of Bmomlal dlstnbut:on is 20 and Standard dewahon |s 4

i them , : - |
<o % (d) n-100 p..1/5 q A5 i il

i (b) n= 80,p=2/5,q=2/5 3

S (c)n-100p 2/5, q = 4/5 T L
1 (d) n'=100, p-1/5_q 8/5 I RS Ly A (1 mark).
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Answer:
(a) Here,

Mean=20S.D=4

np.= 20 .....(1) Variance = (4)2
“-*--_Vanance-16 L gy

e _Puttmg the value of p in eq (1)
1 e
e 20 ;
s

n= 20x5-—100

[1 7] A Company tias two cars whichiit. hlres out dunng the day The number

~of Cars demandedina day has poison dlstnbutlon withmean1.5. Then. |

L percentage of days on Wthh only one car was in demand is equal to -
{ t(@) 28,26 - o (b) 33.47

L (0) 44,62 i i (d)=46:40 - -,.,,(1 mark)j"”
~'[Given Exp (- 1 5) 02231] Rt rastEdBRE S
. Answer: R M e
(b) Given: the mean of Pcnsson dlstnbut:on (m) 1 5
Then

- Poisson parameter (p) m =1 5
- We know by Poisson dnstnbutlon
P (x) = Emmt
: ‘- Xl
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Here
‘ m = 1.5, x_.1
Te o-15
P 2509
] 1 :
1= 0.33465
=0.3347 TR
% of P(1) = 0.3347 x 100 %_33 47%

18] ‘The binomial distribution with'mean 3 & variance .2 is: .
ol 2+12’=’9 i 2 12='9.
T C6), _+_é],

(n (%*%_)zm | = o @ (21]9 “—...."{ma”;)k

- Answer:
" {c) Given mean = 3
p=3 (1)
| Variance = 2 -
Lol NP Brin :_;_,_-(2): SHE TN
" Divide (2)/(1) we get
' rm 2 =7- q = g
P —1-% ;
el e

Put’ung the value of P in EQUa’uon (1)’7 e b daomod ol a0

S {

' ‘nx§f
n=9 _

: : ,The Binomlal dlstnbution is -
: (q+p)"={_2_+lr Vi
Shaston ai3end

B | 3.893
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| .[19]

‘.: (c) E(x) _1 ﬁe known P (x)

g

@4

Vigies W @2

, " 2012-JUNE JJ

For binomial dlstnbutlon , - :
(a) Variance <Mean - © (b) Variance = Mean :
(c) Variance > Mean - (d) None of the above. (1 mark)
Answer: 4 : Dl ‘

(a) For:Binomial dastnbUt:on

npg<np
N Vanance<Mean ]
.[20] IfmsaPcnsson vanate and E(x) 1, then P(x>1)ls
@ 1-_21 et L |
ot -get CaeSe oL (men)
"""_‘Answer AT i Toddusoan o

l*m.x ; E(x)=m

 ’~;;#hP&>1) 775f"m—1 Pm<1)

L -1 -[P(x = 0)+P(x 1)]
' [9-1 10 e-1 1
l'. LO *L‘ |

The -meun and. the 'vériance of a rchdom vari‘éble X having"the

probablhtydens:tyfunctlon P(X=x)=exp {- (x- 4)2}lvﬁ"r °°<x<°°|s
1

21 (b) 45 2 .

2 L
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Answer: i i ,
- (a) - We know, the probablllty d:stnbutlonfunctlon for normal dlstnbutlon
s - A :
p(-x,=x).-- = ——e2 ‘oexse
G:ven in equatlon | . .
P(X : X) ="“ ) e‘(x*4)2
Companng glven functlon wnh the standard form we get e
- Mean (u) = ‘ - : R R

ki s_,D‘(c)u =

v Variance (02) - e

,-:w'-t—#*ae 3

'2012-'DECEMBI.EB “

B .'[22] !n a Normal Dlstnbutlon S I

(a) The first and second cuartlle are equndlstant from medlan ' _
(b) The second and third quamles are equ1d:stant from the. medlan ®
(c) ‘The first and third quartlles are eqmd:stant from the mean R
(@) None of the above Tohe e et adeliaiata e U s (1 mark)f_'
Answer i Sl el s s S RS
(c) InaNormal D:stnbutlon el R
“The first and third quart:les are equrdistant from the mean”

[23] lf parameters of a _binomial distribution are n and p then thlSi.'_‘_

dlstnbutlon tends to a Po:sson dlstnbutlon when

(c) no o np=h @ oo p—->0 np= oy (1.,_mark)f-‘;

where ‘)\’ is a fmlte constant
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Answer : '
(d) If parameters of a binomial distribution are n and p then th|s

dlstnbutlon tends to a P0|sson dlstnbutlon when

‘n—%,p—0, np = A
- Where ‘)\’ is a flnlte constant :

“[24]. it a random variable x follows Poisson d;stnbutlon such that E(x) 30, -
- _then the variance of the dlStl’IbUthﬂ is ' :

T

by B

()30 R e z : 2L e T
g ()20 Sinta LR SR e . - (1 mark)

= TANSWEIE 7k e RN T

. (c) In Pmsson d:stnbutton P
ol Mean Vanance

- E(x)= 30 R e et
 Mean = E(x) = BOAE s e el
; ~ So, Variance = 30 A e _
[25] In a normal dlstributlon quarttle dewatlon is 6 the standard de\natton., :
- willbe ™ - :
©.i(a) A
s add)8 e TR e e B e B s (1 mark):
S ANSWER . TR e e e T
(b) In normal dlstnbutlon
4SD =6. QD,

| SD _Z--AQ_.D; ‘

i et
9
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26] The mode of the Binomial Distribution for which o e Fa
variance 3 is equal t0? which the mean is 4 and

Ea; 35 .~ (b) 425 Frigie
Answer: ' (c‘l)'. 4'1 ‘ : - (1mark)
(@) In Binomial Distribution : e ' e
Mean=np=4 | _ o g AT )
Valhnta s i 2 s P (2)
R MAD) D e R 2
4q = 3_
q .= Sl4.
S e B
P = 1/4inequation (1) =
Toiiias | g
n xz = 4 :
- =16
(i1+1)p (16+1)x_
$ | =425 which is non |nteger
SoMode =4 . v |
2 ] For Poisson Distribution:
‘(@) Mean and Standard Deviations are equal
“(b) Mean and variance are equal
(c) Standard Deviation and variance are equal A
(d) Both (a) and (b) are correct i st A (1_ mark)

Answer:
(b) In Pmsson Dlstnbutlon mean and vanance are equal
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[28] Which of the following is not a charactens’uc of a normal probabllny :

distribution?

" (a) Mean of the normally dlstnbuted popula’non lies at the centre of lts

normal curve.
(b) ltis multi-modal -
(6) The mean, median and mode are equal

(d) Itis a symmetric curve o -~ (1mark)

- Answer:

1291

* (3 5QD=4SD . . “b) 4.QDSBSD. sz ho A T
() 2QD=3SD . . . (d) 3QD=2SD (1 mark)
Answer: , el T

(b) It is multi-modal (False)

An approximate relation between quamle de\natlon (QD) and standard
deviation (S.D) of normal distribution is:- :

~ (d) We kno\& that V

' [30]

in normal distribution
, 4SD=5M.D=6Q.D
'So 48.D=6Q.D
. 28D=3Q.D
or 3Q. D 2S.D

In a2 binomial Dlatnbutlon with 5 lndependent tnals probability of 2and

'3 successes are 0.4362 and 0. 2181 respectively. Parameter p' oi the

binomial distribution is:

(@) 314 (b) 1/3 , R R :

(o). 23 g (d) 1/4 (1 mark)
Answer: . SR o
(b) Given

" n=5,P(x=2)=04362
P (x =3) =0.2181 L
. P(x=8)=%C,.P*.q"*=10.P%¢"

0.2181 =10p°q° ‘ 7 | | 1) .

and P (x=2) =°C, . P2 .q2=10p%’

1 0.4362 = 10 p*° | - TR (B)

-
£
il
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equal (1) eq (2)

02181 _ 10pig?
04362 ~ Jopigd

J_:p“—*}' =

5 q q=2p

1=p=2p

2p+p= I
p=1=p=1/3

" 20‘13 - DECEMBER “

[31] In a certain Poisson frequency dlstrlbutlon the probablllty |
corresponding to two successes is half the probablllty correspondlng '
to three successes. The mean of the distribution is i -

(@) 6 (b) 12 R 0k :
{c) 3 - (d) 245 -~ T (I mark)
Answer: . Sl e e R
- (a) Given

P(x=2) ;%- P(x=3)
2. P(x=2)=P(x=3)

5 BIME. eimd. e e el s e
2_m
5~ 8 |
m=672 =6.

l\)l
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[82] Moan and Varjance of a binomial variance are 4 and% respectively

then P(x z1)willbe____-....

7 729 :
| (6) % (d) None of the above. . (1 mark)
" Answer: | -
. ' (a) ForBinomial Variable -
DR ! Meal‘l = np — 4 o , .......... sreassrssvasa, (1)
f_\!arianCe =npq =

<

owld

" From (1) & (2)
CriAxgiE

0 6
=1-%C 2} 1) . :
°(3 ) ,
G M2 01" 708
N> 5= 15 =75
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3] 5,000 students were appeared in an examination. The mean of marks
was 39.5 with a Standard Deviation 12.5 marks. Assuming the "
distribution to be normal, find the number of students recorded more.

than 60% marks. '

Given: When Z = 1.64, Area of normal curve = 0.4495
(a) 1,000 - ' G AT

(b) 505
(c) 262 R ‘
{d) 2,27 : Hhe il (1 mark)
Answer: . g e : s
(c) Probability that students recorded more than 60% marks = P
: (.x>60) P i e Sl
. =1-P(x<60) .
S Ao L [T e
=1-P(Z<1.64)
=1-4(1.64) LT
=1-(0.4495+0.5) =
=1-0.9495 ~ G
=0.0505 - | _

- Thus, the Number of students having marks more than 60%
' = 5000 % 0.0505 ‘ : s
| =252.5 | | _

[34] It a variate X has, mean > variance, then its.distribution willbe ..
(a) ‘Binomial distribution’ ' | AT '
(b) Poisson distribution
(c) Normal distribution B s B e g el AR 0N
(d) T-distribution e Sk e (Timark)
Answer: g ‘ e :
(a) In Binomial distribution -

Mean > Variance = -
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[35]

If six coins are tossed SImuItaneoust The probablllty of obtalnlng

exactly two heads are:

-~ (a) 1/64 S (by-63/64 R
. (c) 15/64 ~(d) None of these ot (1 mark)
“Answer: . ' | : i :

[36]

(c) Here Total trial (n) =6

For coin p = %, q-'l—‘/a—Va‘
PX=x) . ="c,p.q~"

F’(X=2) 3 t‘?Cé (%)2x (%]6—2 :

Bx5_ [ 1)2: (1)*
- a2 * (2.
= 15| S
=42
1 6
=15 x (E) .
o bl |5
-5 o
If X and y are two mdependent normal random vanables then the
distribution of x + y is: i : :
~ (a) Normal . _ (b) T-distribution e T
- (c) Chi-square = (d) F-distribution S ,-‘(1 ‘mark)
- Answer:. ' 5

137]

(a) Ifxandy are two :ndependent Normal random vanables then the.

. distribution of x +y is Normal. ,
For a normal dlstnbution having mean = 2 and vanance 4, the fourth :

central moment Y, is:.
(@) 1 T (b) 32 - e
(c).'48-' - (d) 64 (1 mark) -




[38]

[39]

"[Chapter = 16] Theoretical Distributions | B | 3.903

Answer: _
(c) For Normal Distribution Mean = 2 Vartance 4 |
Fourth central moments p, =? :
We know that Normal curve iS always
Meso kuritic then B, =
moment coefficient of kurtosis

g

| L 5
Here, p, = Variance =4, 13 3
3 = 4 |

42

U, = 3x42= 3x1s"48
Shortcut Fourth moments y, = 30* —3(4)2

T-test can be used only when the sample has been taken from' g :

(@) Binomial Population - Ab) Poisson Populat:on
(c) Normal Popuiat:on : (d) Exponenttal Populatlon (1 mark)'
Answer: '

(c) t-test can be used enly when the samp!e has been taken from %
Normal Poputaticn. ;

For a binomial distritution with mean = 4 and vanance 3 the thlrd_::_f
central moment ; is: Pt

(@) 52- . ..o (b) 7/4 B Y i
(c) 3/2 By (d)-1/3 o (1'_njark)_,

: Answer

(c) For Binomial distnbution
Mean = 4 Variance = 3

np=4 (ﬁﬂpq 3.(2)

4qg =3
q..=3/4.- ,
thenp=1-q=1 .§=1/4
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Putting p = 1/4 in equation (1)

i
LR =16
. ognidiiln
- The third-central moment
My =Npg gq -3p)3 :
=V *alaa
2 2]= 3
4)” 2
12015-dune ‘_" :

[40]

If x is a binomial variable with parameters n and P, then x carni- assume
(a) any value between 0andn
(b) any value between 0 and n, both mcluswe

o - {c) any whole number between 0 and n, both mcluS;‘ve
~~(d) any number between 0 and infinity T tan (1 mark) |
. Answer:’ : 7

a1

(c) i xis a bincmial vanabie with parameters n & p, then x can
~assume any whole number between 0 -and n, boin inclusive.

e

!'n ! distribution, mean = variance
.(a)'Normal sviadasee o (b)Y Binomial :
(c) Poisson : r(d\ None S (1 mark}

. Answer:

t42]

(e) In Ponsson Dlstnbuficn Mean Vananue

Under a normai curve X+ 3o covers

(a) 100% of the area (item. vaiues)
(b) 99% '

(c) 99.73%

(d) 99.37% | SRR o i

Answer:

" (c) Under a normal curve (X + 30)

covers 99.73% of the Area
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ua) I ' is @ binomial »variable with parameter 15 and %,-then the value of

the -mode of the distribution:

(@) 5 | (b) 5and6 ‘
{c) 5.50 sl (d) 6 (1 mark)
- Answer: » | i ‘ e !
(a) In Binomial Variable (Distribution)
x ~ B(n, p) |
- a1y
x ~B{(15, <)
B(15, 3)
i 3
Mode ={n+1)P ,
={(15+1).-
=16 x% = 5.33 (which is non Integer)
[44] Standard devratlon of bmomial dlstnbutton is:
' (a)J'nE 2 ) PP s P
o M RORUZSE (1 mark)

Answer:
* {c) Standard Dewatron of blnomlal dlstnbution is \/—

.[45] The wages of workers of factory follows:

~ {a) Binomial distribution (b) Po:ssoh dlstnbutlon i
- (c) Normal dtstnbut!on - (d) Chl-square dlStrlbutIOI‘l (1 mark) 5
Answer:

(0) ‘The wages of workers of factory follow Ndrma_!‘_D\IStrlbu'thn. ‘
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[46] The normal curve is:" |

(a) Positively skewed -(b) Negatively skewed
(c) Symmetrlcal (d) All these ; _ (1 mark)
Answer: : ‘ ke :

" (c) Normal curve is symmetncal :
[47] For a Poisson variate X P(X=1)=P (X 2), whatis the mean of X?

(@)1 (b)

BN e Sl e (1 mark)
7 Answer: ~ e

L (c) For x ~ P(m)

P(x = 1) P(x = -2)

en b emm2
T

A 2 Supisd -
e ol

- i TS m= 2
‘f'.'[48] ln a dlscrete random vanable X follows un:form dlStl’IbUﬂOl‘l and
: _-.assumes only the values 8 9 [ 15 18,20: Then P (X<15)is

e g
e
2 sliynend o
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Answer:
(c) Givendata
8,9, 11,15, 1
| Total No. of data n

P(xs_15)=n(

oo

, 20
) ;

(o) ] N Il

— e w—

n

o —
0, 3"
cblro

= =
: )_2016-DECEMlBER'J iy

. .[49] lf x and y are mde,pendent norma] vanates W|th Mean and Standard
. " Deviation as p, and y, and o, and o, respectwely, then z x+y also
follows normal distribution with .= - : Al W
(@) Mean=y,+p,and S.D.=0 respectlvely
(b) Mean = OandSD—cr1+cr2 sl
7 {c) Mean_p,+p2andSD- c;2 qz Pl e
- (d) None of these R (1"'mark)' ».
- Answer: ST I S e i curman g 0T :
(c) Ifx and y are two Independent varlables of Normal sttrzbutron %

‘ if NN (p1’c12) .,l
' andy'"N(uz,cz)— "
Z= N(I-H :U1z)+N (“2:02_) ‘ 25
z=N (Yt W, 02+ G%) - e et R
: Mean Myt pZ,Vanance 01 +cr2 SRR A

SD- = /0% +05

[50] A Pmsson random varlable has p4 =2 ,its v'ar'iancé..i‘.e._pg is

: (_a)‘ (b)
(d)

Col= win

(1 mark) :

N I\)I—l-
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Answel_':
(@ X~ P(m )Fourth moment of Poisson dlstnbutlon
Mp e bl ay '
f'=-3o‘L.p2—ocﬂ.
Rl LB
o _ 3
Varlance = % ' ‘ -
[51] Name the distribution Wthh has Mean Vananpe
(a) Binomial - . ~ (b) Poisson - e e
(c) Normal “ & i o (d) Chi-s‘quare : (1 mark)
Answer: ' e \

©(b) In Po:sson dxstnbutlon mean and variance are equal
[52] An example of a b| -parametric continuos probability distribution:

—<ag

* (a) Binomial - N (b) Poisson o L
(c) Normal f ‘_ ST ;J(d) (a) and ‘(b) Fay e '(1 mark)
Answer: UL e :

(d) Normal distrlbutlon is the example of bi- parametnc probablhty
distribution. - : =)
If x- is a contlnuous varlable

“ 20_1_7..-J_UNE A jl '

'[53] IfX N (50 16) then wh|ch of the followmg is'not: po'ssibl‘e:

- (a) P(X > 60) = 0.30 o : s
- (b) P(X<50) 0.50

o %)PM<6m 040;;;_2*-« itkoal gl s
: ._.Answer = : e ey :
p (c) IfX N (50 16) then P(X<60) 040 is not poss;ble
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154 i fora dlstrlbutlon mean = variance, then the dlstnbutlon is said to be:
. E )) Eglrsrgiln - (b) Binomial
San : (d) None of the above. (1 mark)

" (c) In Poisson dlstrlbutlon Mean and vanance are equal
: 1[5'5] Fora Blnomlal dlstnbutlon if varlance

and p will be: (Mean) ‘then the values of n
(@) 1and 3 (b) 2 and %

g 2 Jrdand s b f i matlg
~Answer: - ' . : :

(a) Given, In Binomial Dlstnbutlon . B
we know that mean = np o
. Variance = npq
_ Given, Vanance (Mean)2

~ Here op’uon (A) we have n = 1 p= 1, g= 1'—-12 %
B 2. e ifns 1)2

(Mean)* = (ip)? = [1x§] =
iy | e

Variance = =1 xX_— =
n npq=1x i 5

~ 'So that Variance = (Mea_n) o

*. Option a is correcti V

20'1,;7 - DECEMBER :

[56] n a normal d[str:butlon about 95 per cent of the observatlons lie
S between ‘and £ -
(@) p-20,u+20 : (b)p 30p+30 At g
- (c) .u-1.960, |J+1 g6o - (d) p- 2.580, p+2_580_ (1 mark)
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Answer:

- (¢) InaNormal distribution about 95% of the observations Iles b/w -
1.960 and M+ 1.960.

'[57] An example of a bi-parametric discrete probability distribution is -

- (a) Binomial distribution . (b) Poisson distribution "
(c) Normal distribution (d) Both (a) and (b) (1 mark) -
‘Answer: '

.- (a) An example of a bi- -parametric dlscrete probablhty dIS'[ﬂbUTIOﬂ is
: Bmom:al dlstrlbutlon : -

[58] ln distribution, mean = variance

- (a) Normal TR (b). Binomial -~
(c) Ponsson R : (_d) None of‘the above. (1 mark)
Answer: . ' : |

.(c) In Pmsson Dlstnbutlon Mean Vanance

1 2018 - May j |

[59] The variance of a bmomlal d:stnbutlon with parameters n and p is:

S@:np2(1sp) - (b),/‘ﬂ*j--
Crie) nafle) (d np*(1PZ. . (1mark)
- Answer: ' _ |
~ (¢) The variance of a binomial distribution
-=npq N
=nqgp
=nq(1-q)

[60] X is a poisson variate satisfying the follow;ng condmon 9 P(X 4) + 90
(X=6)=P (X= 2) What is the value of P(X<1)?
(a) 0.5655 E : (b) 0.6559
(c) 0.7358 (d) 0.8201 : (1 mark)
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- Answer:

(c) Given X ~ P(m) ‘
P(x=2)=9 P(x=4)+ 90 P(x =6)
emm2_ . 9e™m' Qe mb

ST o AR Bl
Xe™m® Qe™Mmt emm2
81 41 ST
2l 0N SR 1
bl B N §]=°

- mym2 0 9P 1]

=5 ox 2|0

e m?{9nt 9P

2 | 3¥0. 12 b i

.

e "m? ‘+3m?_1]=0

0

5 | Fe
e "m2int+3m2-4
T3 ]:o -

E"';.mz (m4+3m2_4) 240

m‘+3m*—4=0

mHdm?—m?—4=0

m? (m? + 4) — 1 (m?+ 4) = 0

_(ﬂ12+4){m2—1)=0

fm+4=0 imP-1=0

m=—4 if mf=+1
m’= + /1

m?= =1

m=(7m>0)
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| [62]

_ g0 +e‘_‘.11 Gl a2
o 1! e e @©
2
Haes = 0.7358 ;
[61]- What is the first quartile of x having the following probability density
funcﬁon? ‘
1) =——= & 1 for — << x <<
J?Q?r
(@) s () 5
(c) 5.95 . (d) 8.75 . (1 mark)
Answer: Ry A
(c) Givenf(x)=—— .8 2 for—®<x<®®
(Rl b:d gL - L
on company .
i 1(x- p?
s fi(x)= .e ®°
: . .U ‘lﬁr
-We get
o=6,u=10 :
First quartile Q, = p — 06750 '
=10 -0. 675 x 6
=10-4.05
=5.95 - e
An example of a bl-parametnc discrete probability dlstribuhon is
(a) binomial distribution . - (b) Poisson distribution
(c) normal distribution (d) both (a) and (b) o (1 mark)
Answer: >

P(x<1) =P(x=0)+P(x=1)

_(a) Binomial distribution is example of a b!-parametnc discrete .

probability distribution.

-
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63] ‘Probability dlstnbutuon may be

(a) discrete " (b) continuous . |
ﬂs"?vfg:'t? . . A @orp) ety mark)

(d) Probability dlstnbutnon may be discrete or contlnuous

o4 I the area of standard normal curve between zZ= 0 to z=1is 0 3412
“then the value of ¢ (1) is.

() 05000 T (b) 0.8413
- (c) - 05000‘ AL (o) i E (1 mark)" -
Answer ; ; :
(b) The area of standard normal-curve betweenz Otoz 1 |so 3413
then 6= 03413+05 et S
ey - =0.8413 - _ e

2018 - i\lOVEMBER

'[65] For a. Poisson variate X, P(X 2) 3P;’(X"=,4)‘,_ thén’..the standard.:
dewatlon of X is SRk A

'_'(') V2 | seeddeB e e (T mankg) s
Answer: G e

(c) Fora Pmsson Variate X
P(X 2) =3P (X=4), .
e™m2 _ 3e™m?

F . Ry |
A m? s 3r"n4‘
. -2 24
: 6m* =24m?
. 24
2 =24
S B

\/_ 2



3.914 |m |Solved Scanner CA Foundation Paper - 3C

[66] The mean of the Binomial distribution 8(4,%) is eqUal to

finis ) 8
| _(a) B (b) =
(©) % " : (d) % (1 mark)
. Answer: ¥ 3 '
@) X,B(n,P) =B, )
Wegetn=4,P=1/3
;o Mean(y) =np -
1% L =4x1/3=4/3

[67] If for a normal distribution Q1 54 52 and Q; = 78 86 then the medlan
-of the distribution is

(a) 12,17 % 8 A : (b) 39.43 _ :
*(c) 66. 69" i (d) Noneofthese (1 mark)
- Answer: s ‘ ST gl g -
(c) ForaNormal Dlstnbutlon -
Q1 5452  and 03=-78.86
We known that - '
' Q=p- 0675 . 54,52 (1)
TR Qe = = 0.675 = 78.86 ivines (@) ar e
-~ :0On Adding ___ RN
e Soeey 2P =133.38
u o= 1338
2: =
bk : | = 66. 69 ‘
In Normal Dlstnbutlon Mean, Median and Mode are equat
- 80, Median = Mean = 66.69
[68] What is the mean of X havmg the follownng densﬁy funct:on’7
X - 10E
f(x)=—-1_—.e e for—°°<x<°°
(a) 10 0 (b) 4 o
(c) 40 (d) ‘None of the above (1 mark)

Ly
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| Answer

~ (a) Given Normal dlstnbutlon |

3 16,91

L 9 "(x 10) 00
- f(x_)- = e 35 for - <x<°°.
- .0On comparing from
f(x) = .e :
opml 2R

B We.get: .
Mean (u) =10 . Ao, AT L
The probability that a student is not a SWImmer is 5 then the'

o probablllty that out of five students four are SWImmer !S '

S lf__(d) None of the above - S (1 mark)
.~ Answer: , e e e G L T
i (d) Given: s Sae TR iy,

Probablhty that a student is not a swnmmer (q)

'

: m|_t-i'~'"w.,

Probablhty that a student tS a sw:mmer (p) = 1 —‘q- = 1 =

. Total No of students (n) = 5 i g 7

PSR, b gy S0 ans (@)

- - P(Exactly 4 students are swnmmer)

| '.~"P(,’;‘-, 4)‘_» L (_4)4(1) i o ‘.

i
PR O e g 45
B W gty e Y 3 Bl T4
. 1
: ,
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[70] 4 coins were tossed 1600 t:mes What is the probablllty that all 4 conns":

do not turn head upward at a time?
(a)- 1600 7' 55
(b)~1000.e7°
(c)_ 100 e‘15°°.

; Answer

:5: o (d) Probablhty of: get’ung a head in a throw of a com ; '
Probablllty of gemng 4 heads ina throw of four conns = _21_4 JE .
Heren oS00 | -

Mean _,_m =np..
1
. _1600 —

oty o Ree e _100

| _f[_7.1]

(No Head) =P (X20)
' ' M"-
s 01
e 1®q’
1
. U= g0 Sl cole
If méan and vanance are 5and 3 respectiVely then jelatidh, ot :
and qis: . _ —

.'(a)p>q,..
(B p<qr

(d) pis symmetric i . R g'(1: mark)
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Answer: _ :
(b) Mean=35, . Variance = 3 -
- np=5 . (1), npq = 3 (2)r
eq(2)/eq(1)
g _3
np 5
q =35
p =1q
=1-3/5=2/5
Here,p <q

[72] In a Poisson distribution if P(x 4) = P(x = 5)' then the parameter of
Poisson distribution is: : s SR

4 - - 5
@l i 6) 3 S
(c) 4 et (d) 5 ~ (1 mark)
Answer: - 4 o e
(d) In‘Poisson dlstrlbutlon
P(x=4) =P(x=5)
e™-m* e™-md
QL T B
i _-m
4! Bl
o 1 e G
AN Y VRS 120«
24m =120
BE S s . 4
{73] Area between-1 06 to + 1.96 in anormal dtstrtbutlon is:
(@) 95.45% '
(b) 95%
{c) 96% ’ '
(d) 99% : * (1 mark)

“Answer: , i B
(b) ‘Area between 1.96t0 +1.96  in a Normal distribution is 95%.
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[74] If the points of inflexion of a normal curve are 40 and 60 respectively,
.then its mean deviation is: -

(a) 8
(b) 45.
(c) 50
(d)y 60 , k: (1 mark)
Answer: : a7
(a) If the pomt of lnflex:on of a Normal Dlstnbut:on are 40 and 60.
Then
H—0=40 | — (1)
S H+0=60 o 0 e (2)
Solving eq. (1) and (2) we get ;
- p=50, . o=10
- ThenM.0.=2 8D |

><I10

XD qlp O

.

—
e

2019 - NOVEMBER ||

[75] Area under U +30
(a). 99.73%
(b) 99% A ’ '
(c) 100% _ : : ' -
(d) 99.37% : - LR
Answer;

(a) We know that 99.73 per cent of the values of a normal variable lies
between (u - 30) and (u + 30)

Thus protability that a value of x lies. Outsu:ie the limit is as low as
(1 00 - 99.73) = 0.27%.

(1 mark)
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78]

'[7’81

' "’_.?_::;:U (b) 1/6
-(C) 6.

For z Poisson distribution:

(2) mean and SD are equal

(b) mean and variance are equal

(c) SD and Variance : Jesnit

(d) both a and b : _ (1 mark)

Ansv/er: - '

(b) Poisson distribution is theoretical discrete probablll’cy dis’mbuhon
which can describe many processes :
Meznisgivenbymi.e,U=m
Variance is also given by mi.e. c?=m
So in pass on distribution mean and variance are equaJ

" Find mode whenn'=15and p = Lin binomial dlstnbu’aon’)

4
(a) 4 _ i
(b) 4and3 -
(o) 42 Ho | _
Ad) 3.75 s gt n s VLT A mark)
- Answer: ' ‘ : i I F
- (b} Inbinomial dlstnbutson -
' m= (n+1)p
m= (15+1)x ]
m=4 ' J
- Since4 is a Jnteger so there wﬂl 2 modes
4and {4 - 1)
Mode 4and3

!n Poxsson drstnbuhon ifP (x 2)' p, (x? 3) fin dim"',?"- = .
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Answer: ,
’ : 111 Z
(¢) In Poisson distribution P(x =x) = £ X',m

. HereP(x#Z): % P(x=3)

o eMmm? _ 1 e™. m?
;2! 2 3!
e™m? _ 1 xe™.m?®
2 2'7-2%6

m=6

[79] Ina blnomlal dlstrrbutton B(n, p)

- Nn= 4P(x= 2) =3x P (x = 3) find P
(a) 1/3
(o) 213
(c) 6/4
(d) 4/3
.- Answer:
(@ n=4 :
- we know P(x=r) ="C, (p)(q)™"
here p(x = 2) = 3xP(x 3)
*c, (p)* (@)** = 8 x *c, (p)3 (@)’

@7 P (P = 3% g X PP (1)

n!

o (= txrl,
- 6x(1-p)=3x4p -
6-6p=12p ;

18p=6

--'p_l

Since "¢, =

r

(1 mar
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- [80] Whatiis the SD and mean
Xt ) = L2 g2 )= 00 <X < 60,
TR
. 1
8 %
- 1
1
- (c) 2, 3 | ‘
JagiE . 3 (1 mark)
Answer: Nt : ¥
(a) The standard form of probablhty densny f“ncnon EASE
i ) 1 .-!x p! : . :
)= e T ity 2
: Hére, g e2x-32 '
P o)
Tr : E L 3 o ‘,
on comparlng with Equataon (1 )
ogZ 1 _ .
. , 02 5 U= - 3
| o=
TRV gt
%1 #E
O =i
1807 'SD= % mean =3
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[81] Which of the follovtnng is unl-parametrlc distribution?

(a) Poisson

i 2.(b) Normal

(c) Binomial

(d) Hyper geometnc o e B : (1 mark)

- Answer:

182

(a) Poisson dtstnbutlon is uni parametrtc distribution.

If the probability of success in a binomial dlstnbutlon is less than one-
half, then the binomial distribution

(a) is skewed to left:

(b) is skewed to right

- (c) has two modes

 "(a) is skewed to left. .
837

(d) has median ata pomt > mean + 1/2 Fii | (‘t'mark)
Answer: - - 3,20

If we change the parameter(s) of a _
probability curve does not change

(@) Normal

(b) Binomial

_ distribution the sharpe of

(c) Poisson -

(d) Non-Gaussion 7  (1'mark)

Answer:

84]

(a) Normal Distribution.

Which one of the following has Ponsson dtstnbutlon‘? |
(@) The number of days to get a complete cure.

(b) The number of defects per meter on Iong rott of coated polythene
sheet. -

(c) The errors obtained in repeated measurlng of the Iength of arod.

(d) ‘The number of clalms rejected by an tnsurance agency (1 mark)

Answer:

(b) The Number of defects per meter on long roil of coated pclythene a2
sheet IS the example of Pmsson dlstnbutlon :
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[85]

(€8]

Far a Poisson distributed variable X, we have P(X 7) BP(X= 9) lhe
mean of the distribution is:

(a) 3
(b) 4
(c) 7 ' ¢
(d) 9 ‘ 41 mark)
Answer: :
(@ W p(x=7) =8p(x=9)
e™.nv _q emnf
7! el
g! _m¥%

gx7! . m7

OB 7

v p 0

m =9 -

m =g :

mean of Poisson distribution
=m=3 ,
The quartile deviation of 2 normal dnstnbut:on wrth mean 10 and
stzndard devigtion 4 is - Yl
(2) 5424
by 23.20
{c) 0275 7 ¢ : Sty ‘

(dj 2.70 - (1 -mark)

(d) Fw!mmm
G?faﬂ!fﬁaﬁ{#} so o ke b
3!3 =0L75 o

39575/4
L =270
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[87] Ifthe pararneter of Poisson distribution is m and (Mean + S. D.) =6/25
then find m:
- (a) 3/25
(b) 1/25 -
(c) 4/25
(d) .35 | | (1 mark)
.Answer:
(b) In Poisson distribution

Mean=m
S.D. =¢m .-
(5]

Given Mean +S.D. = 55

5 ,
Ao {1
m + m=25 i (1)

By Hits and Trial
option (b) satisfied the eq. (1)

‘Here, m= '_ puttmg in eq. (1)

' 1‘ 6
L.H. = 2£ —=-—=RHS."
S. % 25 5 55 HHS

-So, option (b) is correct. o {1 mark)

[ ]

[88] - A coin with probability for head as .15 is tossed 100 times. The standard _

deviation of the number of head 5 turned up is.

(a) 3

(b) 2

(c) 4

(d) 6 ' (1 mark)
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* Answer:
.(c) Heren= 100

_ Probablllty of success (p)

1l

Probablllty of fallure (q)

I
— —
ol=g

e

ol

= /7pq A e R
R R T LICT S e AL B

i B 4 _ g , _ |
[39] Ifxis a Po:sson varlable and P (x = 1) P (x 2) then P (x 4) |s

| (a)v;‘?e—z : e

® Zet
} '-g._z._.
5 294." e
Ans'wer:;_. s : : el
andP(x=1) = P(x=2) -
: e"m.mT_efm.mz.. :
1 D




‘_

[90]
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e—m. mx

b e e228
- 24 :

Wthh one of the followmg is an umparametnc dlstnbutlon”
(a) Poissan. : ‘

SRR G NGmal e R P B R

“{€) Binomial

- (d) Hypergeometnc A i ._ (1 mark)

1]

Answer:’ ,
(a) Poisson dlstnbutlon is an untparametnc dlstnbutlon
For a.normal dlstnbutuon the value of th:rd moment about mean is.

(@) 0" At » p
(b) 1 . :u o BRI L E TR Y [ 1
@3 N . _ (1 mark)
Answer: : ; N :

(a) Fora Normal Distr:butlon the value of thlrd moment about mean

s [zerc]

‘2021 JuLy I gy

2]

in nc:mal dlstrlbutlon Mean, Median and Mode are

(@) Zero . j S <

(b) Not Equal | .

“(c) ‘Equal . ; g el .
- {d) Null . oo I (1 mark). :
= . Answer: SR B ' s R

{e) In Normal D:stnbutlon Mean, Medlan and Mode are equal




Ch
~ [Chapter = 16] Theoretlcal DIStI‘IbUtIOI‘IS || 3. 927

[93] Tt is Pmsson\v
; ariate su
P(x = O) ch that P(x % 1) =07, P (X—2) . 3, then'
(a) &% A |
(b) e |
(c) e*° 2 Y
Answer: - o | cEa R B e (1 mark)
(b) In a poisson variate > ' i
p(X:'I):O,? 'z e I St g
pile an_d Ry - plx=2)=03
T = 0.7_ et BGIIL TR PRI AL | : :
e™.m=0.7 O] Srn 0 S o

AT SR
i e TT _

e

3 O i S
T Rk

eq(1)/eq(2)

.m ‘o :

bosiis 2y _ ,e”""m2
Sy L

- m

m=

,m\

(8]
S SN

. 5 e % MmO
o Now, p(x=0) = = 0‘,‘".
‘ e e =_'_"e'5’7.1.' 4
__.-—1 ,
=% i SR e T e
e most appropriate to. represents .

he following dlagram isth

‘ '[94] - Which oft
al cost?

e : ~ various heads in tot
: " (a) Piechart .

- (b) Bargraph g B e i : AT S 1

i z(c) Multiple Line chart ‘ g R

- (d) Scatter Plot L - a0 mark)

_,,Answer. , ' o N ; 17 B B

(a) Pie chart is the most appropnate to represents !vanous.-heads in

"'---;;.19’(?!',(305'( o iy L R




95]

.-,(d) /15 g B _ | | (1 mark)

(c) Pifx ~ B (n-p) Eid i . |

[96]
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- then the standard deviation is equal to:

battery is normally distributed with a mean of 50 hours and a standard
3 deviation of 15 hours. A person owns one of these mobiles and want |
~-to know the probability that the length of time will be between 50and -

If x is a binomial variate with P=1/3, for the expenment of 90 trials,

(@) /5
(b) V5
(©) 2/5

Answer:

Heren—90 p-.1/3q—1 -p
. - sl
-3
3= =2
Lo 3
S.D = /i
= |oox1x2
= _90><3><3
ﬁm
S.D=2,5

For a certain type of mobile, the length of time between chargesofthe -

70 hours is (given ¢ (1.33)) = O 9082 , cp (0)=0.5)?
(a) - 0.4082 v

(b) 0.5
(c) 0.4082

(d) -0.5 oy i % (1 mark)

Answer:

' (c) Here meah (M) =50 hours

.S-D (o) =15 hours

RSN (]
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‘ S .50.‘—50 )é—p 70—50
. =p X-M
A il o e 15]_
oo.=PO<e <133
= 9(1.33) - 9(0)
= 0.9082 - 0.5000
=0.4082 -

@ ~ DECEMBER
971 The éve'rage ‘number of advertisements per page. appgaring ina
- newspaper is 3. What is the probability that in a particular page zero
- number of advertisements are there? . - %
(@) e o e
(b) &

."l(c)-.e‘ka' ot i

I SEEES D s S e - (tmark)
S BNSWER -~ a0 SR S T T T
- (a) Givenm=3;x=0

As per Poisson: Distnbutaor_n-, P(x) = £ x!m :

H X i u3 : 5 : “ y
: & P.(X=O).=e_0,30 =-e-‘_3 : i SErsE
[98] Four unbiaéed,,céinS* are tossed simultaneously. The "e'zpécte'd |
- ohumberofheadsis: . - ‘ AR
i e
(d) 45 i e P B S gy
- (b) Since four coins are being tossed, we have n = 4;_ o
“ ' Probability of getting a “heads” in each trial (p) = /av _
S Expe'cted'nu”mbgr of Heads=np =4 x %= 2.,
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If; for a Poisson distributed random vanable X the probabllity for X

" taking value 2 is 3 times the probablilty for X taking value 4, then the

vanance of X is

() 4

[100]"

‘Answer: , :
- (c) In Poisson Distribution, P(x)

(b) 3

(c) 2

(d)5 b , W (1mark)-

«ﬁmx'

(x 2) =3P (x 4)
rn~m‘2 3 gm md
21 -4l

Let X be normal dxstant]on wnth mean 2 5 and variance 1 If P[a <X

< 2.5]=0.4772 and that the cumuiatlve norma' probabmty value at 2
18 0.9772, tnen a="? ' i :

(@) 05

By i

=5 (0)- -85

(d)dET : _. : (1 mar!l-i)_

e Answer

(a) We know that for a standard normal dewate z= X=H
=

Therefore forx 2.5, z-— 25125 _O

- Therefore we need th- area of 0. 4772 from the mean till a certain
pomt on the left-hand 31de |



P

: [Chapter g 16] Theoretical Distributions |H | 3.931

H' . ) '%.730/0‘ ; H %
. 95.‘446/‘0 T : , :
< TN L
, — ,
B68.26% '
> :
- '.‘\\\
Pa 2N
. P N
e 34.13% | 34.13% RN
./’- l‘ \\ -
70- \t\l/o 7| 1359% | o | 1359% 5 0.14%
] 214% e #M_ i 214@"‘5/\

Tas 2o, g Mesn g 200080
From the graph above, we can see that the area frommean -

till =20 is 47.72%, i.e., 0.4772. LR
Thus, the corresponding z for th
. a-25 :

” e value of x'.;asho'uld be—-2.
Therefore, =2 = ==~ P neeh  as

—~2=a-25
25-2=a
= 0.5 TSR
ufacturer of a certain electr
is defective. He sells the

onic component s certain that 2% .
components in-boxes of 120
t not more than 2% in any box will be defective.
that a box, selected at random would fail to meet-
that 24 = 0.0907) Lewans el o

- [101] ‘Theman

t of his product

- ‘and guarantees tha

" Find the probability

‘the guarantee?_ (Given

- fa), 049 ;
~(b) 0.39

(c) 0.37 £ miEd

(d) 0.43 , s e
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Answer: ,
=120; p= -2 =0.02
(d) Here, n=120; p " 00
m=np=.120 x 0.02 = 2.40

’ -m
As per Poisson Distribution, P(x) = = -xlm(
A box, selected at random would fail to meet the guarantee if
" more than 2.40 components turn out to be defe‘ctive.
P(x>2.40)=1-P(x < 2.40)

P(x>2.40)=1— [P(x=0)+P(x=1)+P(x=2)]

: s @240 2..40)0' o240 .(2_40)1 &0 (2 402 _
P(x>2.40) =1 - [0.0907>< 1, 00907240 0.0907x(24o)2]
TRt i i S 2

P(x>2. 40) .0.43 ,
[102] A renowned hospltal usually admnts 200 patients everyday One
. percent patients, on an average, require special room facilities. On
- one particular morning, it was found that only one special room is
available. What is the probability that more than 3 patients would
require specual room fac:htles’? :
(a) 0.1428
- (b) 0.1732 ‘
(c) 0.2235 s e e el b S
(d) 0.3450 L TER e , FEESEE S ~ (1 mark) -
Answer: = ' e ey | '
' 00 n— |
(a) Heren=200; p = 95

" Therefore, m=np=200x _1_ =2
=P 100

As per Poisson Distribution, P(x) = em;”*‘
- X
P(x>3)=1-P(x<3) .
, P(x>3)—1 ——[ (x=0) + P(x—1)+P(x 2)+P(x 3)]
‘ e2xX g2x2 e2x® L €2xZB| -
P(x>3) = 1 3 i 5 5
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eHE [(27182(;3')2x2° (27182? 2><21 @71828)2sz g?1828)2x23
‘ : : ; |
1 D i . 8 i -

- + . B53
71 823)2 (2.71 828) 2x(271 828 ex(2;71'828)2] _
P(x>3)=1—l———1 (22 A0 e
o @7l T2 6] -
P(x>3)—1—[08571] 0.1428

Pix>3)=1-

| 2022 - June oy

[103] If Standard Deviation is 1 .732 then what is the: value of pmsson
distribution. The P [-2.48 < x < 3.54] is -
(a) 0.73
~(b) 0.65
(c) 0.86. EEA o T D S P
():0.81, 5. s ook AR g o 50 8 BRI S A
~ Answer: | 57 P e 1 5 o
. (b) GnvenSD.—1732 '
: QD L B
In Poisson dlStl‘lbLl'[lOﬂ
SD =ym
3 =4m
_ P(7248<n<354) - -
. =P (x=0)+P(x=1)+P (x=2)+P(x=3)
" '_,_®330 .3 9”1_334.9_'_3_.“@ | |
A T " 2 a
et 1,89 27] '

T e
C=et ISIQWI
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= Litausas

e3
. 1
(272
13 13
= = =0. 6461 = 0 65
(272)3 2012
In a normal dlstnbutlon vanance is 16 then the value of mean
- deviation is. : -

x13

wa) 42 s e (b) 3 2 e :
o (C) 4.6 e (d) F257 ~ (1 mark)
Answer:- 4 : AT ' Rra

. (b) Variance = 16 (In Normal Dlstnbutlon)

'[1105]

SD= /B6=4

MD=08S.D’
=08x4
. =32 :

For a binomial distribution, there may be — :
(@) Onemode -~ (b) .Twomode . L
(c) Multimode = -~ - (d) No mode : ~ (1mark) .
Answer:. ' S o |
(c) Forabtnomlal dlstnbutlon there may be multlmode

.' ” 2022 - DECEMBER ﬂ

[106]

Skewness of Normal Dlstnbutlon is:

(a) Negative . (b) Positive ; : - i
(c) Zero | (d) Undefined | (1 mark)
Answer; R

(c) Skewness of Normal Distribution is zero because Normal Curve S

s Symmetrlcal
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[107] If a Poisson distribution is S such that P(X 2) P(X = 3) then the
- variance of the distribution is: ki A A

VI BRI RN, 1) < R e o M N M
0 e B s e mang
'Answer ‘ s o SURCORT

(b) In Poisson distribution -' :
P(x=2) =P(x= 3)‘ (g
e“"i. m2 e‘m m3
2 3 -

'SoVananbe m-= 3-"

24 -.].. [108] The Standard Deviation of Binomial dlstnbutlon |s i o '

. {@)npg Rl (B) Bt e
() npTEhE e (@) v (1 mark)
- Answer: - ST o R R R

) 8, D.of Binomial Dlstrrbution = J‘rp‘q ‘ 7. ]

[109] - The speeds of a number- of bikes follow a normal dlstnbutlon model'
. ‘with amean of 83 km/hr and a standard deviation of 9.4 km. /hr. Find -
. the probability that a bike plcked at random is travellmg at more than :
. 95 km/hr.? Given [P (Z> 1.28) = 0.1003] e “

@) '0.10085: 5% . skt (b) 7 0.38% 1 ARy
(C) 049587 iR -'(d) 0278 (T mark)
. - ‘Answer: . . i S T e g
(a) Mean (M)=83 i D(o) |
Ao Stk —M 05 83‘ ek
P(x>95) = P[ o X J
P (&> 1.28)

0.1003 -



